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1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Atlempt any five questions.

3. All questions carry equal marks.

4. Use of simple calculator is allowed.

5. Answers may be written either in English or Hindi, but the same medium should

be used throughout the paper.
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Define Management Accounting. Explain the points of distinction between
management accounting and cost accounting.
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OR

Define Responsibility Accounting? Explain the various responsibility centres which

are necessary for the success of system of responsibility accounting.

rcrn fu6-{ d qfttrE-'d slfrqr rqtn ARq-iqi{ dr dFra +er+-{ + q-q 3l-di + frgiil

fr qrcoqr dfrqr

qT

rtr-erhs Mm-{ d cRnR-d dfrs? 3-ni"rft.€ +er+'-{ qoTrfr o1 qw*rtr * ftq
cneqrfi frfuq3-flrqTER *i fr qrcqt dfrqr

SR Ltd., a newly established manufacturing company has an installed capacity to

produce 1,00,000 units of a consumer product annually. However, its practical

capacity is only 90%. The actual capacity utilisation may be substantially lower,

as the firm is new to the market and demand is uncertain. The following budget

has been prepared for 90o/o capacity utilisation:

Particulars Cost per unit (Rs.)

Direct Materials t2

Direct Labour 8

Direct Expenses 5

Production Overheads (40% variab le) l0

Administration Overheads ( 1 00% fixed) 5

Selling and Distribution (50% variable) 6

2

You are required to prepare Flexible Budget of the consumer product at 70%

and 80% levels ofcapacity utilization giving clearly the Variable Cost, Fixed Cost

and the Total Costs under various heads at all stated levels.
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OR

The budget manager of Sunflower Ltd. is preparing flexible budget for the
accounting year starting from April 1,2025.The company produces one product
namely XYZ. Direct material costs Rs.14 per unit. Direct labour averages Rs.5
per hour and requires 1.6 hours to produce one unit of XYZ. Salesmen are paid
a commission of Rs.2 per unit sold. Fixed selling and administrative expenses

amount to Rs.1,70,000 per year.

Manufacturing overhead is estimated in the following amounts under specified
volumes:

vrcrr ftfr}s, v*', rq rq{fr-f, frfrqiq ffi t ffi etTfr'd eFrflr flrrF{r t,oo,ooo sc+qr
iere fir+ fr er erarfr, 

=q-m 
q-r+6rR+. erq-dr +fi qoZ ir qrRE-6 errcr oq*rr qTfr

dc a {-m-f,r *, dfr s-{ erdR n T€ + sfu srlr BifrFs-d *l eo% errdr sq+{r + ftS
FrqRfr+d ffic +qR ft-qr rrqr *:

Volume of production in units I,20,000 1,50,000

Expenses: (Rs.) (Rs.)

Indirect material s,2 8,000 6,60,000

Indirect Iabour 3,00,000 3,75,000

Inspection 1,80,000 2,2s,000

Maintenance 1,68,000 2,04,000

Depreciation ol plant and equipment 1,80,000 1.80.000

Engineering services 1,88,000 l,88,000

Total manufacturing overh€ad 19,40,000 23,00,000

Prepare a total cost budget for 1,40,000 units of production.

P.T.O.
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rI'FFTFR frftts Er e-s{ l+sr r ;r*o, zozs t 1s d} <r} &sr sS + ftq a-Sdr qs-c

*qn qr ra +r ffi xyz rrrrdr gir sFnE e<rfi *r rsel er',rft fr arrm ra wt cR

rqr{ *r rrqer'rc a+ftrur s tq} sR der + ift xYZfr c*' E+r€ EiI BHIqr 6A +
frs r.o qefr enqs{6dr+fr*r ffirr*+frrr{q-+fiEq.r{c{ 2 q}61 e-frrr+frar

irrar ir fifr-+r ffi ifu sln€fr'fi qq cfr s{ r,7o,o0o {c+ er

frFrqtsr 3Rs 61 3Ecr{ ff€q cl? + Bffi( FrqRft+o nM { amqr vrar l

ssre+ eft qr*r rortd { 1,20,000 1,50,000

re-J (r.) (r)
eu-iqe{ ilrfi 5,28,000 6,6 0 ,000

3{rtelei 8rc 3,00,000 3,75,000

frteroT 1,80,000 2 ,25 ,O00

..{{GIr.I i ,6 8,000 2 ,04 ,000

trd Bfu rrrr-{sr 6r {dr6RI 1,80,000 I ,80,000

erFrqiffit-qT I,88,000 1,88,000

ce frffur ffis l9 ,40,000 2 3 ,00 ,000
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i-rcrfi fr r,4o,ooo EEr{+ * ft's a- Hrrkr svra iqn dfrqr

3. ABC Ltd., a manufacturing concern which has adopted standard costing furnishes
the following information for the month ending October 31, 2024:

The standard mix to produce one unit of product Z is as under:

Material A 30 kg. @ Rs.30 per kg

Material B a0 kg. @ Rs.50 per kg

Material C

During the month of Octob er,2024, 10 units ofproduct Z were actually produced
and consumption was as under -

Material A 320 kg. @ Rs.35 per kg

Material B 475 kg. @ Rs.55 per kg

Material C 435 kg. @ Rs.36 per kg

Required: Calculate the following Material Variances:

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance

(iv) Material Mix Variance

5

(v) Material Yield Variance

OR

P.T.O.
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The standard labour empioyment and the actual labour engaged in a week for a

job are as under:

Skilled Semi-skilled Unskilled

Standard no. of workers in the gang t2 6

Actual no. of workers employed 28 18 4

Standard wage rate per hour (Rs.) 3 2 1

4 3 2

During the 40 hours working week, the gang produced 1,800 standard labour

hours of work.

Calculate:

(a) Labour Cost Variance;

(b) Labour Rate Variance;

(c) Labour Efficiency Variance;

(d) Labour Mix Variance

(e) Labour Yield Variance

veftfrRts, \16G'Mur{err6q+qwm'drrrdd srq{qr*, 3l srryr 2024 +wnq
qr6 + fts ffiftdd Rr<ort vtrn q-(ft +:

yflrq zfr c+. Eq.r{ * stqrr+ * frq qr6 ftryur ftql<sR *:

qrqfi S 30 fr{r. ./ E . 30 vfr fr-qr

qrq-fi ff 40 fuqr. / \'. 50 nfr ft-qr.

32

Actual wage rate per hour (Rs.)
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so fuqr @ r. 40 qfr ftm.

iFr<r( 2024 + qfr+ + *<r+, ,rsre 7fr 1e qorqd srRs l sflrR-d fr rr{ ifu 1sT{

aq tr6R fr -

qFrfi s 320 fuqr. @ t . ss cR fum

smfi ql azs fr-m. @ t . ss vR B.qr

qrtfi {t 43s fum. @ € . 36 cts fr-{r

rs{{m; ftqRfrdfr {T{fi Fr{dT* fr rrurqr dftq:

(r) qrq-fi ern Frqn

(ii) {Tc-fi 1a ft-+rr

(iii) <mfi il*.r n6ut

(ir) urfi g'lur fr{rqr

(v) {mfi cft.rd ft"mur

qms cIrr +srR Bfu v6 6.14 + frq v6 q<r6 t di qRB'6 crq frqlr{n l:

qI

65I?T rd Avro 3l c6Srcl

rrra I qm'* qr+qr {rqr 12 6

6T{rd "rffi fr qrela6' <cqr 28 t8 4

efr qzT qr+6 ccRtt <{ (r) 3 2 l

vR s-cr q<E-fi cq{t <r (t.) 4 3 2

ao q? * or{ qqre + ?lT{, elr i r,ooo qms ejFr qt or qrq fr-qrr

P.T,O.
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(m) cfi drlrf, frqtri

(re) qq at Fr<{r.

(q) m eerdr Fri-dl

(q) ryq Pqq ft-+tur

(v) qc aqm tr-d<ur

(a) A company has annual fixed costs of Rs. I 4,00,000 . In 2023 sales amounted

to Rs.60,00,000 as compared with Rs.45,00,000 in 2022 and profit in 2023

was Rs. 4,20,000 higher than in 2022.

(ii) Determine profit or loss on a precast sales volume of Rs.80,00,0000.

(iii) If there is a reduction in selling price in 2022 by l0% and the company

desires to earn the same profit as in 2021, what would be the required
sales volume? (9)

(b) A company has an average cost of Rs.4 per unit when its production volume
is 3,000 Units. However, average cost changes tp Rs.3.50 when volume
increases to 4,000 units. The break-even point is 5,000 units. Find the
profit- volume ratio. (6)

OR

Dolly Retailers is a retailer firm selling discs at Rs.l00 each. The variable cost

consists of Rs. 65 per unit as purchase price and Rs.5 per disc as handling cost.
The company annual fixed cost amounts Rs.24 lakhs. You are required to calculate

the following (treat each part as independent)

(i) At what level of sales does the company break even?
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(a) P/V ratio and break-even sales

9

(b) New BES if variable costs per disc increases by Rs.6 without increase in the

selling price.

(c) Increase in sales required if the profits are to be increased by Rs.6 Lakhs.

(d) Change in sales volume (units) to off-set a onetime advertisement complain

amounting to Rs.3,60,000.

(o) vo ffi fr qTffi-fi R,rt EFkr r4,oo,ooo tq} *r zozs i frfi oo,oo,ooo tv+ ?ft

wqfu zozz i qa as,oo,ooo tq+ 't irt{ 2023 t otrar 2022 fr SFr<r + 4,2o,ooo

tqt:ifuo-qrr

(i) ffi + ft-q Hr qr offi 6T qrer rrqr< * vr<r *?

(ii) eo,oo,oooo tv+ q} 1{Ftrd fr'fr qr*r qt *rlti qI Erfr 6r Fnrftur dftql

(iii) qR 2022 I G-mq qa t rogzo q1 6fr Aft * Bfu qH qrrfit ir

2o2r + Tcr< dai iiffid q{+ + Iic, il5flq6 ffi {rer @r +fr?

(q) c6 6ffi fr itiril i{Frt a tc} cft EsT{ t E-cB E€t6r sdrre=r qr*r s,ooo *
rqrEdr adft, Ecr q=r 4,000 r-6 q6 cr& * r] ei€-d Fnfir 3.so wt n-o qco

qrfr + is-*fi ffe s,ooo tF-+ tr aTsi-qErr eqvn am dfrvr

zn

ln-fr frH v+- ft|e< ,r{ * ii} roo tq} cfr C6 ffi *r qft{ffrq arrm { os

tq+ cR qF-c lldt-d Tg d{ 5 {c} sfr R6 +sfrrr arrrt wF-o ir sffi B1 qrffi-fi

ftfrqa arrra za arq tq+ *r $rq+} ffit{d fr rrurqr Hrfr +fr (r*+ vm +1

qa-aqrt)'

(o') ft,2fr qwa elr Ao'-id{ frffl

(re) fr-*e {s n Ek A fr{r yR frw' qHnq arrrc o tq} qa qrfr * r

P.T.O
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(r) vE ant t o ans oo+ fr Ek q-(fr + + ffi + EE eirss{6 *r

(u) s,oo,ooo €+ +1 \qI{d tr-drr{ frrflTd 6} qrcr{ * frs ffi crdr

(E6refr)i cffiTr

(D Total availability of raw materials is limited to '18,000 kg.

(ii) Under a trade agreement the firm cannot produce more than 7,500 units of
three products taken together.

(iii) Total sales value of the three products cannot exceed Rs.6,50,000.

Give complete working showing contribution and total profit

OR

x Y Z

Maximum Capacity (units) 5,000 2,000 3,000

Direct material @ Rs.10 per kg. (Rs.) 40 l0 30

Other variab lc costs (Rs.) 36 25 l0

Selling price (Rs.) 100 50 60

Fixed cost (unavoidable) (Rs.) 20,000 15,000 10,000

Write short notes or distinction on any three of the following:

5. Super India Ltd. is producing three products X, Y and Z.The data for the three
products is given below

Calculate the best product-mix in each of the following three independent cases:
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(i) Bleak Even Analysis

(ii) Relevant Costs in Decision Making

(iii) Cost control and Cost Reduction

(v) Budgeting and Standard costing

Bc{ iGqr frfr}s fi-{ sicre rC Y *r ZEI selg;r 6t ra *r ffi seqri or ta B fri
frqr qqr

X Y Z

3{86ffi eirdT (EmTqzfi ) 5,000 2,000 3,000

e-qer qrrfi @t ro rft A-*qH. (\., 40 t0 30

:rq qR+{frq amt (t) 36

n-*q tq (t ) 100 50

frFqa arrrr (olRur{) (r.) 2 0,000 15,000 l0 ,000

ffiA*c fr+Hd{ crc+ + + r+*. + {+dq ssr-frrrq fr rrq-+ frfrq:

(i) q--i qm fr Aa s"nrcrrr ts,ooo ft-+{H eo frftr ir

1il1 erw <ralt * ero q-{ fi-{ -flrd fr z,soo E6r-{+ + orfuq qr t-tqre+ <fr qr
{q-fr *

(iii) ffi- wen* qr Ea B'szI Tg 6,so,ooo {c} t B{Dr+. +& d t-+-arr

P.T.O

(iv) Absorption costing and Marginal costing

t0
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+.rdm 3lk Em drq rutil Ev qof q.r{ fr-{ror ARqr

frqfrfr( + t B-€r fi-< w qfuw ftqfi qr *e ftrd :

(i) ;I HIII a Erft Msq

(ii) Friq A+ i qrffi-6 Hrrrd

(iii) Hrlrd Frfcor d{ arrrr t m'ft

(iv) orq*sur arrrd *( fua arrro

(") qs-c afu qms arrrd

qI

(200)


